Vector Fields in cylindviral coords  
O considera 2D vector held in polar coords  

$$\frac{1}{2} = \frac{1}{2} = \frac{1$$

Thus to figure out the vector field in polar could ;



The vector 
$$d\Theta$$
 is orthogonal to  $dr (adthostop)$   
so if  $\vec{p} = \begin{pmatrix} x \\ y \end{pmatrix}$  then  $d\Theta = \frac{1}{r} \begin{pmatrix} -y \\ x \end{pmatrix}$   
the projection of  $\vec{F}(p)$  onto  $d\Theta$  oxisten  
 $\frac{1}{r} F(\vec{p}) \cdot \begin{pmatrix} -y \\ x \end{pmatrix} d\Theta$ 

$$= \sum IN \text{ polar coords}$$

$$= \frac{1}{r} \begin{pmatrix} M(x,s) \times + N(x,s) \times \\ -M(x,s) \times + N(x,s) \times \end{pmatrix}$$

$$= \begin{pmatrix} M(x,s) \cos \theta + N(x,s) \sin \theta \\ -M(x,s) \sin \theta + N(x,s) \cos \theta \end{pmatrix}$$

$$\begin{array}{lll} \overbrace{F} & \overrightarrow{F}(x,y) = \begin{pmatrix} x \\ y \end{pmatrix} & \text{then in Poln }; \\ \overbrace{F}(r,\theta) = \begin{pmatrix} x\cos\theta + y\sin\theta \\ -x\sin\theta + y\cos\theta \end{pmatrix} \\ = \begin{pmatrix} r\cos^2\theta + r\sin^2\theta \\ -r\cos\theta\sin\theta + r\sin\theta\cos\theta \end{pmatrix} \\ = \begin{pmatrix} r \\ 0 \end{pmatrix} \end{array}$$



IN cylindrical coords, the vector field  

$$\vec{F}(x,y,z) = \begin{pmatrix} M(x,y,z) \\ N(x,y,z) \\ P(x,y,z) \end{pmatrix}$$

is represented as  

$$\vec{F}(\vec{\Theta}) = \begin{pmatrix} M\cos\Theta + N\sin\Theta \\ N\cos\Theta - M\sin\Theta \\ P \end{pmatrix}$$

$$E_X F(x,y,z) = \begin{pmatrix} x \\ y \\ z \end{pmatrix}$$
 in polar coords is:

$$\vec{F}(r,\theta,z) = \begin{pmatrix} r\cos^2\theta + r\sin^2\theta \\ r\sin\theta\cos\theta - r\sin\theta\cos\theta \end{pmatrix} = \begin{pmatrix} r \\ 0 \\ z \end{pmatrix}$$

Theorem In cylindrical coords the divergence of  

$$\vec{F}(r, \theta, z) = \begin{pmatrix} F_r(r, \theta, z) \\ F_{\theta}(r, \theta, z) \\ F_{z}(r, \theta, z) \end{pmatrix}$$

$$div \vec{F} = \frac{1}{r} \frac{2}{2r} \left( r F_r \right) + \frac{1}{r} \frac{2}{20} F_0 + \frac{2}{22} F_2$$

$$E_{X} = If \quad \vec{F}(X, y, z) = \begin{pmatrix} x \\ z \end{pmatrix} \quad divergence is$$

$$\frac{\partial}{\partial x} \times + \frac{\partial}{\partial y} + \frac{\partial}{\partial z} = 3$$

$$In \quad cylindrical \ coordinate$$

$$\vec{F}(I,0,z) = \begin{pmatrix} 0 \\ z \end{pmatrix}$$

$$divF = \frac{1}{r} \frac{\partial}{\partial r} (r^2) + \frac{1}{r} \frac{\partial}{\partial \theta} 0 + \frac{\partial}{\partial z} z$$

$$= \frac{1}{r} (2r) + 0 + 1$$

$$= 2+1$$

Derivation of cylindrical divergence formula:  $\vec{a} = (x_{o_1} y_{o_2} z_{o_2}) = (r_{o_1} \Theta_{o_2} z_{o_2})$  $\sim \mathbb{R}^3$ het 8020 8220 Consider VC >0 and the 3D regim  $Z_0 - \Delta Z \leq Z \leq Z_0 + \Delta Z$ 205 100

We give the 2V outword normals in rectangular coords these are difficult to figure at, but in cylindrical coords its earsier!



Observe :

$$SF \cdot d\bar{s} = SF_{2} dS - SSF_{2} dS$$

$$V \qquad tq \qquad battom
+ SSF_{2} dS - SSF_{2} dS
+ SSF_{2} dS
+ SSF_{2} dS - SSF_{2} dS
+ SSF_{2} dS
+ SSF_{2} dS - SSF_{2} dS
+ SSF_{2} dS
+$$

$$= \frac{2\Delta\Theta}{2\pi} \left( \pi \left( r_0 + \Delta r \right)^2 - \pi \left( r_0 - \Delta r \right)^2 \right) (2\Delta z)$$
  
=  $8 r_0 \Delta r \Delta \Theta \Delta z$ 

We take the pieces one at a time :

Promotivity: He top as  

$$\begin{pmatrix} r \\ \Theta \\ Z_{2} + \Delta Z \end{pmatrix} = \int_{0}^{r_{0} - \Delta \Theta} \int_{0}^{r_{0} + \Delta \Theta} \int_{0}^{r_{0} - \Delta \Theta} \int_{0}^{r_{0} + \Delta \Theta} \int_{0}^{r_{0} +$$

Finally we consider the left and right sides

$$In cylindvical coords + lessare
Parameterized as
$$\begin{pmatrix} r_{0} - \Delta r \\ \Theta \\ Z \end{pmatrix} ad \begin{pmatrix} r_{0} + \Delta r \\ \Theta \\ Z \end{pmatrix}$$

$$(*) \stackrel{L}{\bigvee_{0}(V)} \left( \iint_{r_{0}V} F_{r} dS - \iint_{r} F_{r} dS \right) + his is from the
Incohord of polar
$$= \stackrel{L}{\bigvee_{0}(V)} \left( \iint_{0-\Delta \Theta} F_{r} dS - \iint_{0-\Delta \sigma} F_{r} (r_{0} + \Delta r_{0} \Theta, Z) (r_{0} + \Delta r) dZ d\Theta \right)$$

$$= \stackrel{L}{\bigvee_{0}(V)} \left( \iint_{0-\Delta \Theta} F_{20} - \Delta Z \\ - \iint_{0-\Delta \Theta} F_{20} - \Delta Z \\ - \iint_{0+\Delta \Theta} F_{20} + \Delta Z \\ - \iint_{0+\Delta \Theta} F_{20} + \Delta Z \\ - \iint_{0+\Delta \Theta} F_{20} - \Delta Z \\ - \int_{0+\Delta \Theta} F_$$$$$$

$$= \frac{1}{r_0} \frac{2}{2r_0} \left( \frac{F_r(r, 6^*, 2^*) r}{r^*} \right) \text{ for some } r^*$$
as  $V \rightarrow \overline{a}$ ,  $(r^*, 6^*, 2^*) \rightarrow \overline{a}$ . As we assume the partial